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General Description of the
Mathematics 2019 ?.A,T

General Description  The Grade 9 Mathematics Provincis! Achievement Test consists
of two parts:

* Part A coatains 20 numerical-response questions and essesses
students’ foundations! skills and fluency in mental math,
operations on rational numbers without the usc of calcglators.

* Part B contains 32 multipic-choice questions and 8 numerical-
response questions and assesses students® sbitity to recafl
concepts and principles and to spply reasoning skifls to solve

Questions are categorized according to three levels of

coraplexity: fow, moderate, and high. (See Appendix 1 for a moce
detailed explanation of cach complexity level)

Question Format The following bulicts briefly deseribe the two question formats:
s Multiple-choice questions provide students with four respoase

options, of which only onc is correct.
* Numerical-response quostions require studens to gencrate a
response {in symbolic form) to a parti r probiem, rather than

selecting s response from a list of four options,

General Sktrategies
Nown=-calculator Question

FRACTIONS and DECIMALS

Because it makes it easier, I suggest that when dealing with fractions you
convert them all to fractions of equal denominators.

Itis helpful to have a denominator of 100 whenever possible. That is, if you
can, multiply the fraction by a number to get a denominator of 100 (do not
forget that you MUST multiply both numerator and denominator).

When dealing with decimals:

- Try using a benchmark. For example, 0.80 is 0.20 away from 1.

- Ifind it truly helpful to convert decimals into fractions:

WORK OUT THE SIGNS FIRST!

When adding and subtracting decimals, make sure you lineup the
decimal point.

To add decimals, break it up so you add in pieces of a more manageable

unit. This means adding or subtracting to get to numbers that are easier to
deal with:



3.27+6.19

Add 0.3 to get to 3.30 Add 0.1 to get to 6.20
3.30 + 6.20 = 9.50
Now subtract what you added:
9.50 - 0.4 =9.10
*  When multiplying decimals, remember that your answer MUST HAVE a
number of decimal places EQUAL TO THE TOTAL AMOUNT OF DECIMAL
PLACES of all the numbers being multiplied.
*  When dividing decimals, “group and count”:
4 +0.25

Each “1” has 4 of the 0.25 groups

1 2 3 4
40.25" 4"0.25" 40.25” 4 “0.25"
Total = 16

MULTIPLICATION AND DIVISION
* Remember that multiplication and division are inversely related:
3x2=6 s06 +2=3and6 +3=2
* DO THE SIGNS FIRST:

(=)x(=) = (+) )+ =)
(H)x(+) = (+) B+ =)
ExH =) G+ =)

* An ODD amount of multipliers or divisors result in NEGATIVE numbers.
* An EVEN amount of multipliers or divisors result in POSITIVE numbers.

DISTRIBUTIVE PROPERTY
* The number outside the bracket multiplies EVERY term inside the bracket.
ALWAYS DISTRIBUTE FIRST! (You can’t separate the outside number
Jrom its bracket. Distribute first and then continue following BEDMAS).

SOLVING EQUATIONS
* Move EVERYTHING at once (“the river method"):
- Choose the side for the variable that automatically makes it positive (it’
easier).
- Move ALL the variables to that side.
- Move ALL numbers to the other side.



- REMEMBER THAT ANYTHING THAT GOES ACROSS THE “=" SIGN
CHANGES TO ITS INVERSE: Adding to subtracting and vice versa;
Multiplication to division and vice versa.

- Work everything out so that you end up with a positive variable with a
coefficient of 1.

3
POWERS e 5 N
5x3=15 Sx5x5=125
WhoNG 1 RIGHT)

* Pair LIKE-BASES only!
* Abase is NEGATIVE only when the negative sign is INSIDE the bracket.
*  When the base is negative:

- Negative base with EVEN exponent: +

- Negative base with ODD exponent: -

(-9 = (-9)x(-9}=
(9) = (-9)x(-9)x(-9)=

* The “laws” you learned ONLY APPLY TO THE MULTIPLICATION AND
DIVISION of EXPONENTS WITH EQUAL BASES:
- When multiplying POWERS OF EQUAL BASE ------- -> ADD the exponents
- When dividing POWERS OF EQUAL BASE ------ -> SUBTRACT the
exponents.

A. 6% ¢ 63
66 + 3
69

B.n5en7
ni«’
niz

* When ADDING or SUBTRACTING any powers, YOU MUST USE THEIR
STANDARD FORM instead. That is, their NUMERICAL VALUE:



32+ 33=3x3 + (3x3x3) = 9+ 27 =36

* Ifthe exponent = 0, then your answer is ALWAYS 1.

=1 =1 =1

i
(R
i
[

» If nothing is showing (exponent-wise), it means the exponent is 1!
4 is the same as (4)!

* Anytime you have (base¢xponentjexponent yoy MULTIPLY the exponents!

()" =a
(3?)'=3°"=3
(x*)' =x~

* Exponents are ALSO DISTRIBUTED:
(4yzy’ =4y .2 =64y’

PERFECT SQUARES and SQUARE ROOTS

* Make sure you know these perfect squares and square roots:
12=1 112= 121

ta

22=4 122 =144
3=9 132 = 169
42=16 142 = 196
§2=25 152 =225
62=36 162 = 256
72=49 172 =289
82=64 182 = 324
92 = 81 182 =361
10%2= 100 202 = 400
1¥=1 23=8

33¥=27 43=64



Square Roots
V36=6 | VI21 =11
V49 =7 144 = 12
V64 =8 169 = 13
V81 =9 196 = 14
V100 = 10 | V225 = 15

Il
Ul [ [N =

2|5

9?@@&
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* Practice approximating square roots. When asked to approximate, and due
to the ambiguity of it, I'm pretty convinced you'll be asked to approximate
only to a nearest benchmark (integer, whole or given number).

* PERFECT SQUARES with zeroes MUST HAVE AN EVEN AMOUNT OF ZEROES
TO BE PERFECT SQUARES:

If a number ends with odd number of zeros then
it is not a perfect square.

Example: 1) 30
2) 5000

3) 400000
4) 100

5) B0C00

This method for finding square roots will work if the number is a multiple of 100,
that is, it has an even number of zeroes, and starts with a perfect square.,

Ex ST > 2500 Jzo/l

s Ta MAS AN B/ERN) NUMBER OfF Tezoved - 5 < IO @

o 25 15 eav perfect SgOMwL

V1440000
,Iqq S A @EﬂﬁSﬁoﬂ&/ 19/ x (0000 = " 144 x \//?

reze ape Y ZTEECCS z 2= 60 g@}
Examplel

=1 1200 _
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Fractions Decimals Percentages
Converting Fraction to Decimal or Decimal to Percentage
Duowide

Fractions Nameretor by Decimal
Denarminater

Multgly by

100 Percentage

Converting Percentage to Decimal or Decimal to Fraction

Owide by Convert 0

Percentage 100 Decimal froction Fraction

1 Numerator When converiing to fractions: find the denominator
and thea cancel down if necessary

2 Denominator

Per eent’ (%) menns ous of 100° ‘Of* meons ‘mulnply’

1es

* Toget 10%:
Bring a decimal dot one place in: 10% of 45 is 4.5.
* 50% is HALF the amount.
e 20%=10%+10%
30%=10% + 10% + 10%
40% =50% - 10% or 10%+10%+10%+10%
* To convert a percentage to decimal, DIVIDE by 100.

1474
20%= 20.= .20 =2 =0.2
= 2.=.2 =,02=
i\
222% = 222. = 222

= 002 =._002 =.0002 =

* To convert a decimal to a percentage, MULTIPLY by 100.

mn
0.2=02_=020. =020=20 =20 %

1,02 =002 =002, =002 {Remove Leading O's) = *
nn
2.22= 2.22 =222.= (Remove Decimal Point) = 222 %

= 0,0002 =000.02 =0.02 =

* To get the % of any number, multiply such number by the decimal form of
the percentage:
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Grade 9 Mathematics Formula Sheet

The following information may be useful in writing this test.

Area (A)
Circle A= 7r?
Rectangle A=lw
Triangle A=l /( C,QJ
\N
Volume (V)

Right Cylinder V=nrth 0@
\\\

Prism V = (Base Area)(h)

Pyramid V= %(Base Area)(h) 300 *Q}\'

Circumference (C)

Circle C=nd or 2nr

Pythagorean Theorem

ﬁqafe_, SupRe )/OJ
Oude e ”femembm:

? }UpoTPnom/
C= \/a, + &Y
Q/ = C’Z—- é‘:U

(4

a

c 5 A
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Part A: Sample Questions IQO‘g ‘%(q D Eg@g.@é Coechons

;_____/

1.

What is (-2) x (1) x (-3)? ‘

Answer:

(Record your answer as an integer value on the
answer sheet.)

Evaluate (=1)* - (-1)* - 1%
Answer:

(Record your answer as an integer value on the
answer sheet.)

What is the value
C (X () X (4
(-4)8 ?

Answer:

{Record your answer as an integer value on the
answer sheet.)

9
What is the value of ]§ +0.2x §

expressed as a fraction in simplest form?

{Record the numerator in the first column)
Answer: = (Record the fraction bar in the second column)
{Record the denominator in the third column)

(Record your answer on the answer sheet.)

Alberta Education, Provincial Assessment Sector 13

o 16 .

5. What is the value of 75 X5 27

expressed as a fraction in simplest form?

(Record the numerator in the first column)
Answer: — (Record the fraction bar in the second column)
(Record the denominator in the third column)

(Record your answer on the answer sheet.)

What is the value of g +0.25 +0.5

expressed as a fraction in simplest form ?

{Record the numerator in the first column)
Answer: = (Record the fraction bar in the second column)
D (Record the denominator in (he third column)

(Record your answer on the answer sheet.)

Given (4 x 5)7 =4% x 57 what is the value
of ®?

Answer: B =

(Record your answer as an integer value on the
answer sheet.)

In simplest form, what is the value of
(3.25 + %) +0.257
Answer:

(Record your answer as an integer value on the
answer sheet.)

Math 9 Subject Bulletin 2018-2019
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12.

pIL¥Y

Solve =(.5.
Answer: x =

(Record your answer as an integer value on the
answer sheet.)

Solve for x in the following equation.
20+ x=4x+ 14,

Express your answer to the nearest tenth.
Answer: X =

{Record your answer on the answer sheet.)

Solve for x in the following equation.
=2(3x —4)y=2x + 6).

Express your answer to the nearest tenth.
Answer: x =

{Record your answer on the answer sheet.)
Solve for x in the following equation.

0.420 - 10x) = 14x - 28

Apswer: x =

{Record vour answer as an integer value on the
answer sheet.)

Evaluate the expression —4(7 - 2x),
where x=-1.
Answer:

{Record your answer as an integer value on the
answer sheet.)

Alberta Education, Provincial Assessment Sector

14.

17.

What is the approximate square root of i

/145

45
YV 3

Y to the nearest whole number?

Answer:

{Record vour answer on the answer sheet. )

Order the following rational numbers from
smallest value to greatest value, using the
numbers 1,2, 3, and 4.

Use the number 1 to represent the smallest value
and the number 4 1o represent the greatest value.

Answer:

L

9

-1.75 .

oo

(Record all four digits of your answer
on the answer sheet.)

Order the following rational numbers from
smallest value to greatest value, using the
numbers 1. 2, 3, and 4.

I
Use the number 1 to represent the smallest value ?
and the number 4 to represent the grealest value.

¥
-0.6 -z‘ '
(Record all four digits of your answer
on the answer sheet. )

Answer: s ,

ln

~0.75

!
Gl
I

What is the value of 0.4 +2 + V/j"%_ X I%

expressed as a fraction in simplest form?

D (Record the numerator in the Drst column)
Answer: ﬁ tRecord the fraction bar in the second column)
| ! iRecord the denominator in the third cotumns

L

{Record your answer on the answer sheet. )

rE—

Math 9 Subject Bulletin 2018-2019
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Use the following information to answer question 18.

Incquality Symbols

72

t,

‘mbol 1 Symbol 2 Symbol 3 Symbol 4
2 | < <

18. Solve the inequality 10 -2x2 -4,

Answer: x

Symbol Value
number

{Record in the {Record in the
Orst box) second box)

(Record both digits of your answer on the answer sheet.)

Use the following information to answer question 19.

Point 1 Point 4
| Point2 Point3 Point §
- St - e —
4 5

19.  Which points best represent an approximate value for v17, 23, andv/27 7

Answer: Point:

Number: 17 J23 J27

{Record all three digits of vour answer on the answer sheet.)

Use the following information to answer question 20.

Consider the inequality 3x -4 =2x -5.

B

A

(PR S

C
—
-1

c4
— i

[
tr i}m

20. How many of the points labelled with a letter on the number line above satisfy the
inequality?

Answer: points

{Record your answer on the answer sheet.)

Albenta Education, Provincial Assessment Sector 15 Math 9 Subject Bulletin 2018-2019



Part A
1 2 3 4 5 & 7
8 9 10[ ] 11 12 13 14

s[ [ [T 16 TTT]7[T]T]e 19 20[ 51

i <

Alberta Education. Provincial Assessment Sector 17 Math 9 Subject Bulletin 2018-2019



& i‘?—fi)»—'

oot Foe Moty plicaicm

Answer: __— & | Boletn |
(Record your answer as an integer value on the ' &Jéﬁ'ﬁ ons (‘4') - ("ﬁ') == &)

answer sheet. ) '

 resers €= (=) = &)
(<)o €+ = (=)

STEiTeas) . fosT ook oot He Stgns -
£-) <<y . )

" N
- Woyk ouT Re rwmbers

A | x 3
2. Evaluate (-1)*-(-1)*- 1% | . A n@g@\@ bage M\S
Answer: i ’ o n§ ahve 6}&#‘3 Ingvde
(Record your answer as an integer value on the ‘ LA
answer sheet.) . F,a;@ < e ?}5&5“ ve.
'\ 2 1y (—1) r// \\/
(D2 EAD G = 2 (H oe

. 7 g Od{f
(“ {) 3 = (-— \\},-(—*‘S'C_l) - *_ﬁ MFUﬂ?ﬂT Wancn'l

_rg 1_» the base here is NOT neg;)a‘(:n/@. J "7”5@ K»)
1 :
{4&']2»&1 "4\6 C’) SLJ/\, DU ;__\ ./

. - g =l

e S

( o R
SobTakion — 46.1? e opposiTe

STerlesy L oy (-1 do pgt &WB e
5 — “Hre, Aa(dlv\f) & vl
2+ (s & < onin o

Cowers |1



(_4\3- w (__4).1 x (__4)-‘14 L] UNy Qﬁh’ca_bb TO FoI¥i
-4’ | oF e4u~d bases.

! Answer: ___={* " OI\/lﬁ GW/IC&H@ ,Coﬁ,

{Record your answer as an integer vaiue on the

answer sheet.) M\),‘(_ LP\\ Ca-""fof\ arcl Cl/l \/;Sibl
I\J:,{r j(.or ac‘:(fi\j /S0 B’k«cﬁ:

of

OUJ}\"” o (Tiplyin PO\%/G
WT) pee T Dases equall (egu=t &‘%)Qj“??ﬁw s
Jg Yes —> [AFDy applylas L ke AVidiny g
) T —» Probatly haye o Use
) i
iN gtandaed foem.

Oame  bose, (-4) — (_q)'z; C_(,,f)%‘ C-—L/jq
- = 2+2,
-4 gy - )0 T 9T ()T

= 3 wwg-ﬂ(ﬁ Stgns - . .
» - winc Ll vis - (_;, £ Fom
5. - 64 (=25~ — 6 3o
Eq Lo T + ey = -
——h Pow bes

AN Yut/a ¢




| 4. Whatis the value of +02%x% 1S ™ fv}’{(xu LR e

expressed as a fraction in simplest form? <
{Recurd the numerator in the first coluimna) A@ H an [ m ﬂ% t S-
: e
Answer: = (Record the fraction bar in the second column) -
B (Record the denominator in the third colomn) MORQ, Wﬁ l OM. oﬂ
IR =}
{Record your answer on the answer sheet.) &S’J YN
. . ST vs@ BEDMAS\
- \

L—-—f' Q\____A___”_ e

) CO"?QT é’\lé N i'rﬂ"o -ﬁ/éacj‘h'a\s‘

M THe WAY
@ ajo(.«ft(j = ;‘—'mo/ The COMMon
:DEI\IOMM/ATOQ,

/ @ follow @EDMAS} 7

s{"
H—2 3

5. What is the value of 7§ i,g »)87

expressed as a fraction in simplest form?

i

;a {Record the numerator in the first column) o) M e :D W S oN -’f/’(né‘(

Answer: = (Record the fraction bar in the second column) i
E (Revord the denominater in the third column) 'f vl TTP licatton are. On
Zame level

(Record vour unswer on the answer sheet.) JJ
We can e liminele
oM mMMon



'L — 2% 0% 2% o3 Q
! K_E,.;. 2 _= : 3 < 4
=B =] P 4

6. What is the value of 18~ +025+05

expressed as a fraction in simplest form ? f” JRoef 100 ~< m Corder]
,__x (Record the numerator in the first column) t 0(@ C}' £a chg O jfz A o
Answer: 5 (Record the fraction bar i the second column)
g {Record the denominator in the third coluren) o ¥
(Record your answer on the answer sheet.) -
3

60‘. ) ‘ \g ﬁ/c«‘/@/ Wm
ér g feuﬁons iﬁ o

Cormmon nammajae,(
1=+ X \'j
§ g 8 %

e SYQ@EM ,’2) ; add  decioreals anrd Hen comderT
—-—= VO fRackone] )

5 WG r 0B e

04?5-’—255‘ = ,—é' k
>

109,
ELIIY O.f’rS/p %‘45
3 o b /{—22-\ L

%\

\G\I,!"'



7. C?‘:n (4% 5)" =4" 5% 57 what is the value ‘f’éw@ OF [6ee g
fe) 2
. .| /‘/?)-f

Answer: M=__ 7 €x: (6 ,_.;Z.) 3 g
i l:;.::rdsi :;:‘r )anw,er asan mte;r value on the OF
' 2 3 23 gz
, 2 . o A ,
(& w o } = 5 b e 2
g
s
JPGC:/)’ L F, o o7 N
‘ 1=x5) = (W'xs5) = ¥ x5
|8 - 7
@Tem?zéti_g__

8. In simplest fon\n, what is the value of —_ ) 4
(3.25+%)+0.§5?_‘“‘? Means . Corver? o the F,Pﬁj«ic-)n
Answer: 10 a0 numbee. foer Wy -

e i . | otV
21 e
(Record your answer as an mi:ger value on the e&.& ‘i’D C(Q
answer sheet. ) ’} vy JQC}-\N\C'L/G ﬂom&e’s

] are Qa-f}\b ﬁd&c&v So:

__‘?_ = O3S

L/
(&;;;5 + 0,35 ) = 0.25
H = o.2s
/Qﬂ"f‘a,{ B/J;Smr\ St aTe ﬁkj - Kbdfr e UY}LT(')

each 4 has 4 (0.25) et R
S‘m&e \ 1 ye»D.25 / " arother. Wi s
—3

o —=3 4 more . L,! .%-@.25 B

== 24 ! &
2 = oL v = .2:5 2 = Y=
< o] 4 /2 =

L —= ¥ PORE ,___J/



9. Solve § =05. Mentz! TViSion égy ﬁocaa"

' Answer: x=_§jg_______ . w}h‘o}'\ humber iV (X
(Record your answer as an integer value on the 6 ‘W‘T’ &)?"fs Oo 5 7

answer sheet)) ; EA«CJ-[ ” U A C‘\’ M 2(0 .

e |~;O.5)0_5
2 TP 2 mpoce

% V\\SF;PC,""(O{\ — D -> 2 moaoce
‘,,é—.—: D. 5 — ’*JQ", _f'mol") lo Apovps f)éf?-j
- 0.5 = _L e G‘QDL’L;“:(J

2
2 = ’Jj = X is v 5‘?‘@{5531 3
9\/.. ' n Qmé.é& %a:f &% eguaj_i o @
@0/@ P //0{}) /@" . —/\l/QQJ
+A SNV / e
< /5/@10"“'?: *‘3 1 3 o,oex?a:ﬁaf\s
jimga Qj o I
_/,3.1_4 Bp c aunl_ 32+3 - a.!.—s 6 O.5

6 G *3g R T
5@!'12=-Q

N |

o= - O X BVIE
3 = 0Bx =ia
2 . D2,
10. Solve for x in the following equaﬁO“ _,T._ A ‘ i ’
2-6+X=4X+l,4. I J) _’J___. } U(‘)hfh \/aR.\QJb(Q/ 5 Oh bo‘f'f)

B god  SICES o) can moe @UeRHhif
Express your answer to the ncarest tenth ' ot 8/‘\(‘,@ by U‘”\ﬁ ”g,205$ \7"}\6

Ao . ii
Answer: x =

o4 o Make &oan KJOL) rnas/g Q’\'@‘Q’
{Record vour unswer on the answer sheet) 74@] @@ Fa\g C'hl;(é

l.2= 3X 162 a0 tio D2 croni 26147 X

= —_—
- —_— —



-2(3x - 4) = 2(x + 6).

Express your answer to the nearest tenth.

e - o0 - 0.5 pecpesis & —
{Record ;(,ﬁfﬁ:i fmi:?: whhuu 3( oy ‘{" H\' = (Bx2)+{3
AN Y fjrgi%wﬁk ;mm Gy
“2(3X ) =2 (X4 y e*@f«‘/L/
b + 8= 2y 1)y Mok A
A eler ™ TS o woee |
B- 12 = 2x 40 S¢
~7= 8x s T;ﬁ
/‘T&E‘“‘“\"*Li"‘:ia < ',:;_i:& —
Aormern bee. y C—*) SW?CI’WVW)Z Hhe 5,8N % a (™
{

~ \H_“__/"\’/

12, Solve for x in the following equation.
0.420-10x) = 14x - 28
Answer: x = .:';, BJI’ - OY: # ) «S*"\f ()‘éb?i
- e /O
tRecord your ans o
answer sheet, )dl Herasan integer vaiue on the 9—-— (QQ — o X ) = }[/ X ‘.48’
5 /
~ <
ff\%f“ﬂhﬂff)’a : 21 - 3 g “"" x 20 -_ 2 C'DX) - )LU(’ 2\
; i
p
O

N % E% _ lux =28
C-’P % - HX’ = JY¥X — 7 C

2, {J\an%goﬂ WC&
’éw =Xy =2 o '

| &7 - 7\(.
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Evaluate the expression —4(7 - 2x),
where x=-1.

Answer:

{Record your answer as an integer value on the
answer sheet.)

-y (*—1—_2(-:)>
Ny
-4 {F-(-2)

)

SobsTivR Yhe varickle
W T 27 e.n Vﬂ-LbB) and.
‘e t STea~clied

/Cogm ansuserl,

=Yy (:7) -

or

(T - -8 - 3p]

What is the approximate square root

/145
~Z to the nearest whole number?
Answer: .

(Record your answer on the answer sheet.)

% o g

~——’

- ———

4 Na iy ’

<o Wr can Sa.’z} ~A
N

15.

Order the following rational numbers from
smallest value to greatest value, using the
numbers I, 2, 3, and &.

Uise the number 1 1o represent the smallest value
and the number 4 to represent the greatesi value.

[/’&’] 2
T
V9

Answer: s

135 -1.75 8
1.5 1.75 -3
- ).b

{Record all four digits of your answer
on the answer sheet.)

of

W
L..}

FHhan
Mlb \

. 5@(9&6 OF Fhe NTOURe,
7% —/’}EWP.A;T/) RS P%t}
SORe, THE @vét/ AP’ OX
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“p . TO recres T Db
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(s s a pt (sbéﬂ«ﬁ) higher
b, &1 Remars” vnder .
s s closesT — (5.

w By affertten 1@ e, Questhon

o/

S llast > GReaTesT
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R O

smallest value to greatest value. using the

numbers 1.2, 3, and 4. NnumMmbees c? Y] (df! QBe
Use the number 1 1o represent the smallest value P2® a:h \e)

and the number 4 to represent the greatest value.

. ‘ / ot o
Answer: ____a—, -? ' i)_ ' F) @ % %W )’>€3 “'T}@/——li) /”é
R I &) B M\e, ore Closep 4o O

&) o it 71, _f_,‘i = O.@ (rJOuO “Yhis numécje g
R N B~ COmr)%’f‘q Posfﬁ‘/e ! ‘IJne/ %eo:fe&
\I}_‘S:\/ < -'/ﬂ"-,g \J o ,2‘ 5
Z k / /
So: -0.15 ) — 0.l ard - 2.6
J [ ' ! e
~2.5 -0.35 0.6 e

I7. What is the value of 04+2 + \/ ?%%l‘é‘ )!" 5@‘5} !\/] AS)

expressed as a fraction in simplest form?

E {Record the sumerstor in the Orst o slumay o’; é(mf UM

Answer: {Record the fruciion bar in the second coburn; ’
B {Record the denominator in the third column) C) ﬂc)

- UM

* 273} %Lﬂf

4@%{3& g SU

s Oy oo, *feAsKjOLz&efé Wh- 5 )’\cJ" & 09’? -C
J L R

{Record your answe¥ on the answer sheet)

2 0
N B
' Y = 2) = _ﬁ/- - ! - G’Z {S}!{,ﬁ“%
5 )24 1S oncl. ~he
e J— —
Sam
& j‘ = M = \..5_: = -—l—— éhomtm




Inequality Symbols

Symbol 2

Symbol | &J

14::.5 at eq7]

Symbo] 4

Symbol 3 l
s

Legs Fhan

r €ﬁm-ﬁ
—

18. Solve the inequality 10-2x2-4.

Answer: x l}’ ? 552‘%2} bv\j v %
Symbol Value }ﬂ“/ﬁzg—& @FQR“' - ?‘\ -
number
oo iy o SAme Wy ag solvig
(Record both digits of your answer on the answer sheet.) Q-W (on s
(2(\}0:0/ ‘4; "‘\\ - &‘X > - Ilf
W o — )
\\Qﬁ \’Y\ \ o’ > .y 4 ‘*
\D{. m\) N o - p -
r N YU | ~
ar’"e 3 Y‘/ 7(_‘\ e w
\q i/ ?—] lecs o B
Mot egalto T T
%ﬁg +

o= =-H P
f.a-aA/ - |

e ——

JD-2(6) = =

lo- 2%

IO ~ 12, =2 -4 Vo -¢ =z
=2z -] |22

/
Use the foﬁewmg information to ayéwp}‘%uestmn i9.

Vs the

| ,,-nl LA - =
| ™ Point 1 oy 5% Tpointg Pm
ob r v /' ; "“‘) e
- Point2 Point 3 Pojat’s $ h‘g}wf
._ o
‘f \¢e® Ay 23 \ﬁr S ba W }G'W
Hia
o ¢ tow \1 lo =

19, Which points best represent an approximate value for \/-le ., ¥23 ,andv/279 i Ing

Answer: Point: ’2?* q 5 55 =5

Number: /3 J27
Qose 4o I clage !

{Record all three digits of vour answer nn the answer qh sy A



USE ifie TOLOWING IRTOrmaton 10 aNswer quesuon Zu.

Consider the inequality 3x-4<2x-5.
AN r—J

4 (B) [C
o/

5 -1
- g.;a e
20. How many of the points labelled with a letter on the number line above satisfy the
inequality?

Y

© Sty
~

Py
ISR Jot

Answer: 3 points

{Record yvour answer on the answer sheel.)

e Mov O Switch the clrecHon &g *fﬁg Ihe gual/ity
ten « ﬁﬁo’d“[ ive. humbee. |s vsed o mutiply or

drvide . ..

& 507\1@ by USing Iinverge q@@ff'_’()ﬂg 5(

———

N (% e
DX-y' 2 2% -F M?Q
/ /. - - | . \

_L_q ‘_}‘q ( Q/ .‘/ \
AR
ZM £ 2X - pow()}r/-
AX ) \@
=77 ® &

(/{hc) humé@r“ ,eq,u,qj ) /"egd“ %4»‘) -/

QC‘:’O:
"j/ E))C/,\ - f// é’ ;I/"‘{_) "5
-3-4 &£ -2-5
1 3 = -F

X 2 -2, s
3-2) - Y £ 2l-2)-S B ~
.——(‘? — bj 5 == % - 5 - 7 4

o= I [0t -7

- ]



Part A: Sample Answer Sheet—Key

- =
-6 1 -6 4 173 3/ 4 7178 7
O
16 6 0.4 -0.5 2 - 36 6
Bi‘ - X
O
4312 2431 47 245 3
= J

Alberta Education, Provincial Assessment Sector i8 Math 9 Subiect Bulletin 2018-2010



- Ay the @ Gueslkons ake
Appendix 1 OJ he 75“ p&é{f:em/‘

Part A: Sample Questions

1. Whatis (<2) x (=1) X (-3)? 5. Whatis 43-3%9
Answer: Answer:
ansueR as 17EAgR. arswee. as Inkesee.
@ What is 30% of 427 6. Evaluatc 17°
Answer: Answer:

answae ad 7 72‘5@8

3. What is the value 7. Solve for x in the following equation.
(=X (=4 x (-4)* o
of (_4)6 ? 26+x=4x+14
Answer: Answer: x =
What is the value of [—(—30)2 - (22)1]2? 8. Solve for x in the following equation.
Answer: 0.4(20-10x) = 14x - 28

ANSWeR, oS ‘mWﬁEEL

Answer: x =

Alberta Education. Provincial Assessment Sector 8 Math 9 Subiect Bulletin 2017-2018



9, What is the approximate square root of 4/ % to the nearest whole number?

Answer:

(Record your answer on the answer sheet.)

Use the following information to answer question 10.

If the area of the square shown above is 135 cm?, what is the approximate side length to
the nearest centimetre?

Answer:

(Record your answer on the answer sheet.)

Alberta Education. Provincial Assessment Sector 9 Math 9 Suhiact Rulletin 20172018



11. Order the following rational numbers from smallest value to greatest value, using the
numbers 1, 2, 3, and 4.

Use the number 1 to represent the smallest value
and the number 4 to represent the greatest value.

ﬁ -1.5 ~1.75
9

(Record all four digits of your answer on the answer sheet.)

Answer:

I
oo

12. What is the value of 0.4 +2 -/ 3,9_6 X 1-;—‘?

Answer;

{Record your answer on the answer sheet.)

@ Solve for x in the following equation.

_ (1.3
2\'—4(1 4x)—6

Answer: x =

(Record your answer on the answer sheet.)

Alberta Education. Provincial Assessment Sector 10 Math @ Suhiect Rulletin 20172018



Use the followmg mformatton to answer quesnon 14.

J5T 455 V&I V&6
J7T ST VBT /8

How many of the square roots shown above have a value that is between 8 and 97

Answer:

(Record your answer on the answer sheet.)

Use the following information to answer question 15.

Consider the inequality 3x -4 <2x-5.

A B C D E F G
_——— A
-2 -1 0 1 2

15. How many of the points labelled with a letter on the number line above satisfy the
inequality?

Answer:  points
(Record your answer on the answer sheet.)
What s +he ual Ll yoz x= ReSect
) \s Nale & 5 8 277 as

oL [ rackHon in Sim Leg'r‘ ,g,,-n?
/ 6/¢N<Sue;e, : 'j (ﬁ{fvomtf"c fiesr eolumn)

D (e et ir Seont coluimn)

@ what s e value g 0.25 +0.S+ é%—o/xp&s:eo( ey

/eao'“forw (A St foem>
Avsvees [ (Record 1n 15Tant bl cd,umos

00 ord in 2and 4™ colum )
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GRADE 9 MATHEMATICS ACHIEVEMENT TEST

PART A
1 2 3 p 5 6 7
3 g 10 11 12 13 14
18] | [ []1e 17 1 19] | za[ 1 sl




Solutions to “Uv\i.que” Quesktions
Pork A 2017 - 201%

. . ~0.2 20140,
@ What is the value of {~(=3")"-(27) |77 i

d vt s O W o L)
R @ What is 30% ot 327
4

Answer: _~ 1 F
Answer: | Jale 8 NSwep, 4§ an
e (pPeeved \jove o
2. anfcleR. on .
(?ﬁr\s“&{m@ y;"‘-eu eT) fn?e,j"ﬂ/ \/ah,up, on Hhe anteersheet)

Use the following information to answer question 10.

Al o Kl . b - . .
7 @ I the area of the square shown above is 135 em®, what is the approximate side length to
the nearest centimetre?
Answer:

B

{Record your answer on the snswer shect.)



i What is the largest value of (@ < a when the variables in the expression represent

/ the digits 1, 2, 3, and 4? (Each vuriable can only represent one of the four digits.)

i ¥

Answer: s

(Record the answer on the answer shect

b.A
Snee a

céa-
> o
3
b

'Tfi) ma_gum, -W\e('
as4 , b=2 A3 L e
e AT R
:L-,\ = ()% v Gt oo g4

or [V

)
F e S R I
-...?-—’3> (_Q— i '3) = g>‘3x3><3: 8}
A =]
a4 <

U\e the following informeation 1o answer question 14,
I

| VET ERT LE v (6

VL VT dst vss

How many of the square roots shown above bave o value that is between 8 and 97
Answer:

(Record your answer on the answer sheet.)

Use the following information to answer question 15.

Consider the incquality 3y -4 < 2 =5,

A I < s Fo F G
l K 1

15.  How many of the points labelled with a letter on the number line above satisfy the
incquality?

o L] 2

Answer: points

(Recond your answer on the answer sheet, )
| 22
What is +the uyalue % 5 ¥ o2 X = expressest g5
/’ o égach'on in Sim Iem-fo;eyn ?

ANSwrer. - U Lne T~ firsr colamn)
L_'{ (e coect ir  Sewort colismn)
0 A= 1o_1r
lﬂ"’mdﬂn Nl 20 30 3
@ u.);\a;(' e e e lera 06 .25 ‘05 =2 aWeroI LS Ao
,e:ao‘f'fo,ﬂ oY Sisrn foer\'\> 3
ANSuoee « Ej F (Becord in 1STand 2wt ccletmanh
_f] D (& cord in R on L 4P Ccleam )
a5, So 2 AR ol Ty :
W‘giﬂw‘fﬁio‘ﬂpn g tor ¥ 1D + ‘_3 ad L’ = ‘ .3 - é_-!:‘i:‘__y: s’—:—’:-
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